The riddle of the ether is solved by neutron sciences

[bookmark: _GoBack]Mendeleev was looking for the chemical elements of the ether, other scientists were looking for a connection between the ether and gravity, and, for example, Tesla, considered the ether as a medium for transmitting energy. Strange as it may seem, but in fact everything is so from the point of view of neutron sciences (NS). According to NS, gravitation is the pressing of solids, liquids, gases to the Earth's surface by pieces of magnetic field lines passing through them (MLF not virtual) consisting of gravitons obtained as a result of damage to the constantly deformed magnetic field of the Earth. The Earth's magnetic field is a magnetic body from MLF with magnetic chemical bonds. 
In NN there are no atoms in the form of a nucleus with electrons, but there are chemical elements in the form of six-pointed and eight-pointed hedgehogs that create rectangular, cubic and  hexagonal lattices.
 Chemical elements are conventional monopoles with north poles at the ends of the needles and one south pole in the center of the structure. 
Matter from such chemical elements is considered positive. Graviton is also positive, therefore it presses on matter, and light, electron, alpha and gamma particles (and others) are antimatter with south poles in front, which has its own engines. 
For this reason, when light meets chemical elements, for example, wallpaper, annihilation occurs and the latter burn out. 
Light is the needles of destroyed chemical elements, alpha particles are needles of large chemical elements with dozens of magnetized gas molecules (electron charge) - they are also slow electrons and complex ionic molecules, gamma particles are basic chemical elements that have formed into a "rocket" without alpha particles, i.e. e. electric charges. 
Alpha particles are free needles of radioactive materials and structural components of gravitons. Gravitons are born on the surface of solids when the surface free needles of the lattices, in the presence of active gases, turn into alpha particles and pull out chemical elements from the lattices, while the latter are folded into a graviton rocket. Gravitons can produce at least half of the elements in the periodic table. 
Thus, the chemical elements of the ether are gravitons - complex ionic molecules tens and hundreds of times heavier than hydrogen. By the way, hydrogen is an under-formed chemical element, so it is easily destroyed. 
The electron is a transformer of the graviton in the magnetic conductor tube. Gravitons are the main suppliers of electrons on Earth up to 95%, the remaining 5% are alpha particles (slow electrons) and, accordingly, gravitons transfer electrons (energy) over distances in a hidden form of a transformer. 
From the above it follows that aether is the gravitational flows of active masses. The active mass is always electrically conductive magma with an electromagnetic field.
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